BEANBRNESINTEHEE

BB

(B) 47T 64 48 18 (‘) 4 7% 3H 31H
(Bhr . B
B ZE ® H TEMW RE ®B) ZR (M) -®) i
REFEENA 195,411,500 212,297,296 N\16,885,796
Pt SR N 50,000 99,523 A\49,523
= R B M A 1,800 9,312 A7,512
é UNERY TN 914,500 842,062 72,438
& FEFBNAH QO 196,377,800 213,248,193 A16,870,393
W AR 160,784,100 181,328,179 20,544,079
% PAEE = sy 16,995,000 18,906,725 A1,911,725
| |EHRXH 13,486,000 16,892,176 A\3,406,176
% |tz ooz H 0 5,433,550 A5,433,550
EEFEETHE (2) 191,265,100 222,560,630 31,295,530
FETDESICEER Q=1-©@ 5,112,700 9,312,437 14,425,137
Ji | iy
1
%%\ HREHSAG @ 0 0 0
% . Ty AT A ) — RMEBHOREIH 0 253,920 253,920
iz
i
2 | - -
iy MiEREE RS HE (B) 0 253,920 A\253,920
X EEREEEELIUEER 6)=@-(5) 0 253,920 253,920
z|iw FEEERBRNA 0 8,000,000 /8,000,000
]
@:;l A Z DM OTESHIAE (1) 0 8,000,000 /\8,000,000
:‘{E_
%i
< |
iw ZOMOIEEZ HE 8) 0 0 0
X Z DWOEEESINEESE (9)=(ND-(8) 0 8,000,000 /8,000,000
TR (10) 111,028 _ 111,000
MHIESNFTEHAE D=03)+6)+(9)-10) 5,001,700 A1,566,357 6,568,057
kTR ESER (12) 18,603,019 18,693,019 0
SRR (D+(12) 23,694,719 17,126,662 6,568,057




BB R

BN NERFE
(B) ©7% 6F 4A (|) 4 74 34 31H
(AL : 1)
woE B B HaEHEE 58 NERELB R
REFERA 912,297,296 212,297,296 0
|1 FE TR A P A 99,523 99,523 0
k= TR EEYMENA 9,312 9,312 0
?’f ANz ool A 842,062 842,062 0
) FREEBIAG (1) 213,248,193 213,248,193 0
1| | AEER 181,328,179 181,328,179 0
eét 3 |EHA 18,906,725 18,906,725 0
| |FHBRZH 16,892,176 16,892,176 0
|z ooz 5,433,550 5,433,550 0
FHEEDHE @ 222,560,630 292,560,630 0
FRFBESNESE 3)=(1)-(2) A\9,312,437 A9,312,437 0
palid
B
' %}\ REREIG @ 0 0 0
g |TrAFvA-Y — AEHDRE M 253,920 253,920 0
(| <
X
% | e
i MR B SE A (5) 253,920 253,920 0
X HRERHSESNTESE 6)=4)-(5) 253,920 253,920 0
# BSEERBINA 8,000,000 8,000,000 0
D
@‘i)l A ZOMDEBRAEE (7) 8,000,000 8,000,000 0
%ﬁ
I Z D OTEBHE (8) 0 0 0
X TOMDOEHEENTER 9=(1)-6) 8,000,000 8,000,000 0
LHIE SN T ZAEGE (10)=(3)+(6)+(9) 1,568,357 A\1,566,357 0
MR IE AR (1D 18,693,019 18,693,019 0
) WHISk T IVE SRR (10)+(11) 17,126,662 17,126,662 0




H—BHHR

ST O TY SRR

ELEINTNRE
(B) &% 6% 48 1H (E 4f 14 38 31A
(BLAT : 1)
woE B B ENEE
REFERA 212,297,296
Iz RERE TN 99,523
= A BEL S AU 9,312
?§ Mz oA 842,062
ﬁﬁj FEBEBIRAG 1) 213,248,193
RPN (- & ais 181,328,179
%t & | A 18,906,725
| |FBERXE 16,892,176
% |H 2 oo 5,433,550
FIEERSHE () 292,560,630
FEFHESNEER Q=) A\9,312,437
)7}
N IEREHERAG 0
o TrAF AR Y —AEEOIREZH 253,920
BB HEE (5) 253,920
MEREBHEESIEES 6)=(1)-(5) 253,920
P BB 8,000,000
>
% A Z O DIEBINAEE (7) 8,000,000
¥in
%ﬁ
%m
i ZDMOFEEEHE (8) 0
X ZOMDEHEENTER 9)=(D-6) 8,000,000
WHIR SN EEEE (10)=(3)+(6)+(9) A1,566,357
BTk E SR (1D 18,693,019
MU ESERE (10)+(11) 17,126,662




BB H R

HERUEERXSS BENSIARE
() 4% 64 45 1R (E) #Fn 74 37 31H
(B4 1)
B e B B HPISREER Br ZRER FECEBERr L #—
HEFERA 96,893,266 95,550,030 12,166,000
iy | R B A B A 83,523 18,000 0
= | RBAERSSRA 5,758 2,164 1,390
Az oo 830,062 12,000 0
f@gj EEEEINAE (D 97,812,609 95,680,194 12,167,390
PN CE -3 85,861,761 79,874,749 9,698,404
;E % TREERLTH 11,040,732 7,415,445 243,644
| |EBRXM 9,240,252 5,809,801 1,251,959
¥ ||z ooz 76,693 438,490 2,568,435
TEFHIHE @ 106,219,438 93,538,485 13,762,442
FERBESIER Q)=1)-2) /\8,406,829 2,041,709 /1,595,052
HE |4
ax
%J~ RERSIAT @ 0 0 0
e N Ty AFrR e U —REBOEFEZH 125,172 128,748 0
5
% |t - e
Iy MERREER S G (5) 125,172 128,748 0
b3 BRERSESNIEE 6)=@-6) A125,172 128,748 0
PN TESLEERURIRA 8,000,000 0 0
o | AR BRASIA 75,063 0 0
i) A Z OMOFEENAE (D) 8,075,063 0 0
% PR K A A S S 0 765,047 16
VJ X
gm
Iz Z OMOEBTHE (8) 0 75,047 16
X FOMOEEESNTELE 9=(1)-®) 8,075,063 AT5,047 Als
MERE IR =AEA R (10)=(3)+(6)+(9) A\456,938 1,837,914 1,595,068
AR ESES (D 16,986,151 901,334 603,586
UHRTIESES (10)+(11) 16,529,213 2,739,248 991,482




,,,,,,,

HEAEER S

(B) &fn 64

EENZRE

“fn 74 3A 31H

B—HH RN

(BT - F)
Bz #® H B CHRI AE S TEEE aF PNERE B VB %
REEEERA 7,688,000 212,297,296 0
e BEREBFHaRA 0 99,523 0
x ZER RS A 0 9,312 0
{;5 Az ooz A 0 842,062 0
) FEEBIAF (D) 7,688,000 213,248,193 0
W AR 5,893,265 181,328,179 0
T | BRI 206,904 18,906,725 0
| |EEBRH 590,164 16,892,176 0
| |7 oo H 2,349,932 5,433,550 0
FERDIHE @ 9,040,265 292,560,630 0
FEEHESIEE )=1-(2) A1,352,265 9,312,437 0
il
B
% A RERELAG (@) 0 0 0
-y . Ty AT VA J—AEBOBREIH 0 253,920 0
e
X
3 —
iz RIS 6) 0 253,920 0
x HEREHEEESNTER (6)=4)-(5) 0 £\253,920 0
PR TESLEERAR A 0 8,000,000 0
o |ERSEBASRA 0 75,063 AT75,083
{;i;, A Z DUDEBR A (D) 0 8,075,063 AT5,063
| (RARSHEEAE 0 75,063 A\75,063
?g *
g H
Iz FDOMOTEFZHE (8) 0 75,063 AT5,063
X Z OOTFETESIN T ZEE (9)=(7)-(8) 0 8,000,000 0
MHPE IV R EAEEE (10)=(3)+(68)+(9) A1,352,265 A1,566,357 0
Mk ESES 1D 201,948 18,693,019 0
| MR EeER (100+(01) A1,150,317 17,126,662 0




E—5HHEk

HEBEBUHFER Sy BESNZIHRE
(B) &% 64 48 1H (E) 4% 74 38 31H
(Bfz - F)
o o' #B = ERRSAF
HREBEENA 212,297,296
Iy BEREFHERA 99,523
% A ENIE RN 9,312
%7\%@m@mx 842,062
o Faga AR (D 213,248,193
| IAEEH 181,328,179
% | | TR 18,906,725
| |FBRXW 16,892,176
Wz ooz 5,433,550
FREEDHIHE ) 292,560,630
FRFIESNEEE 0)=(1)-(2) 9,312,437
i TR (@) 0
%:k774+VR-D~X%%®E%im 253,920
Nl
£
%t - _
id EEREBHEEHE (5) 253,920
* HRBHEESNEESE 6)=(4)-(5) 253,920
A BEEERARIA 8,000,000
ol |EESFRASTA 0
%f~ Z D OEFN A (D 8,000,000
| |RESERAGIH 0
e
<
g FDOMOTEEHE (8) 0
X F OMOEEENEEE (9)=(1)-6) 8,000,000
WHAE &IV AR 10)=(3)+(6)+(9) A1,566,357
MR RESES (1) 18,693,019

WHSE T ESTEE (10)+(11)

17,126,662




